CATEVYE, the world’s largest manufacturer of Bicycle Reflex Reflectors,
has been supplying the highest quality reflectors for more than 70 years.
CATEYE has also applied this optical technology to headlights and taillights,
and has a wide range of products for different applications and purposes.

.
CATEYEg
www.cateye.com




COMPANY PROFILE wamn

COMPANY PHILOSOPHY [2A®E#%]

Deliver quality products through creativity, passion, and teamwork.

ELeIHE, BB REANAE RES R R

COMPANY MISSION [»8/{#]

To add value to all aspects of society, including issues related to safety, health, and the environment.

BATRAERE, ERE EaxTIMR BES, A& mEMME.

COMPANY HISTORY [28m%]

Cateye’s early history catalogs the vision of the Tsuyama family, who actually started out producing and selling architectural metal
fittings. In 1948 they turned their focus towards the bicycle industry, producing and selling bicycle parts and accessories. This
marked the birth of a family company Cateye, which today is known as a leading brand world-wide in reflector and bicycle
accessories market.

Cateye reflectors, from which the company derives its name, represent our core technology. The name "Cateye" comes from the
fact that the reflectors shine like a cat's eye. In 1957, the company produced Japan's first reflector and marketed it under the
trademark of Cateye to the world. This reflective technology and knowledge were then utilized within Cateye's first safety flashing
light in 1964. In Japan, the product became the first to be tested by the Tokyo Metropolitan Police Department's performance test
in 1958 and was instantly recognized by the industry.

Cateye reflectors have since expanded to meet requirements all over the world. In 1967, Cateye product passed SAE-CHP
standards in the United States and continued to pass other strict standards around the world. Notably, Cateye reflectors and front
LED headlights for bicycles passed the StVZ0O German road safety standards which is well known for its high level of demand and
strictness as a regulation in the industry.

The source of Cateye's ability to bring unique products to market lies in our highly creative developmental processes combined
with proprietary production technologies. Our Kanan plant, located in Osaka prefecture, houses state-of-the-art industrial
machinery and equipment which include production systems that are carefully designed to meet specific product standards and
regulations.

yn

Cateye's "reflective" technology, is one of our core technologies and is highly regarded worldwide for its small size, world class
performance, and meeting standards with consistency. Cateye will continue to lead the market globally with the unwavering
quality required on each and every reflector we make and promises to do so for many decades to come.

CATEYERIRERLIER T TsuyamaRIEHIE R, AR —FARELREFRIEERR L ETM. 1948F, BELOEBBITETL, &7~
MHEBTERHFER Y. XTRREFREWCATEYERREASA, MSERXAMBITERGTIHLZE LI

CATEYERIth, R THR MBI OEA, LR AR BRAIER. AREA CATEVE", BB TR A BGIHHRE— AN LK. 1957
F, NRIEFTRAEANE - RIER, FFBEMUCATEYERRHE@E . X RS AR AIAME F7E1964F Iz B FCATEYEE — 1 &
EWRAT =M@, AL R RT1958FER A AAE - HAFRAERFHIHITIHERENKA
7= 8m, FEALENEE L R AIART B2 F.

b5, CATEYER St Friath R I B it R &I K. 19674, CATEVEFmEXERBE T
SAE-CHPHR/fE, S IKBE 7 H M & AT E. BERIEIEHNR, CATEVEBITERR
FABTLEDSKATE I T StvZOfR EiE i R AR, AR ER A E S K FRERF= T AR
M E A

CATEYER R AR A= RERTIZNEN, FETESRECENNARRREUREENE

PR, AL FRBREIKanan T fE KA T WA AMIR &, EPERELTHRITUHF
BRES BITEFERNETRE.

CATEYER" R 51" HAREAMNMZOEARZ —, BE/NGHRS, R —RHEARTERE
LLIN—RIRRAE, SRR CATEVERFEREN SN HIEN R ERAR—F,
HEERBRERFATCHA FFORERRB+FRFHBREDN—




THE KEY TO SAFETY (=zenzsxu

USA /UK

@

RR-165 RR-530 RR-165
Rear Wheel Front

GERMANY

RR-395 RR-317 RR-F1 EU
Rear Wheel Front

Key points for installation :

Front and Rear Reflectors :

a. The reflectors must be oriented correctly. Note the TOP
marking stamped on the back and mount properly.

b. Fix the reflector housing firmly through bracket with the
provided hardwares.

c. Remember to keep the lens surface perpendicular to the
ground not tilted up or down.

d. The rear reflector is most effective at the back of the rear
fender, if the bicycle has one.

Wheel Reflectors :

a. Two wheel reflectors must be visible on each side.

b. Attach the reflector on the spoke at the groove, the nut and
turn it clockwise with a coin or similar tool. Slide it toward the
rim until it's tightened.

c. Remember to keep good balance on both ends of the reflector
to the rim.

Pedal Reflectors :
Each pedal has reflectors located on the front and rear
surface.

Reflector Mount Alignment Test :

1) According to British BS6102: Part 2, United States C.P.S.C.
and Japan JIS D9452. When a force of 90 N (9kgf) is
applied to the reflector in selected direction(s), the optical
axis of the reflector (excluding pedal reflectors or
spoke-mounted reflectors or mudguard-mounted reflector)
shall not deflect more than 15 degrees during the test, and
shall not exhibit a permanent displacement greater than 5
degrees after the test.

2) According to German “Technische Anforderungen
Fahrzeugteile” TA Nr.18 (10)

a) Push and Pull Test: 1,05 N/cm 2 x Surface (cm2) Limit :<10
degrees from normal position

b) Durability Test: 200n force (for 5 hours) apply to the
reflector bracket
Limit:< 45 degrees from normal position
I Nm force apply to vertical axis
Limit:+ 5 degrees from normal position
Note: The above description is outline of the regulation.
Please consult authorized organizations for detail.

FRANCE
@® E==E( )
RR-165 RR-530 RR-165
Rear Wheel Front
71Q) gy
JAPAN

RR-340 RR-0217 RR-F1 RR-340 RR-F1
Wheel Front Rear Wheel  Front

HEMER:

BlIERER :

a RAEFWABMVEERFTERNEFEEMNTOPIEEHEEIE
WHREELT.

b. &AM LB BB £ it 39 SRS ROE R Bl E 1

c. MIPERBERNXFEESHEEEIE AL LR THRL

d ZETERELIREEREFERTIR EMEALRRET

BFR:F :

a. BHHIRE A VBRI UMEM—iBEERL.

b. AR KX AR FHAEGRREZ L BRAREFE
B AR Tl 187 B2 T BT |l e e N ROt B BB S Rt A
REWBRIEN T % G 481 ZB0w].

c. MMEEIL KN F 5 E BB IFET HEILIE

BBRENhR -

FRIMBERESNE R ERERITE R AT

R RRERMR (R FIEENRMNTE)

1) RIBHEEBS6102: Part2, 2 EC.P.S.CHAZJIS D452 HIFME,
ERAEEEEI—EE S, 90N, (9kgf) B J18, 71 F1 5B
B R R B R AR R B 1 S EGXERAE & T M
BRIER BRI LB RS FHEEMERION, Okgf(A T
MAERMKE,ARATLZT KA ER KA ERETL.

2) IRIEIEE "Technische Anforderungen Fahrzeugteile" TA Nr.
18(10)

a) HERLMIK: #8771,05 N/em 2 X Surface (cm2) SEE S EE L E
MAEZH/NR10E.

b) it A MEMIK: HE200NHEBH R I BFEZR(GA /N
el SEFEMNENAESH/NR4E.

INmOEH AN EEMLEE: SEEMENAETSHAEER
5ELLA.
BfiE: L ERIRUR A EXAERIFEIR. B IFEEERLIE 552
HlAai(a).



MOUNTING METHOD :s52)
RR-165-BTR

Reflex Reflector Black Body Red Lens
HRARGESE)

RABRRHER FEHARGAR)

Reflex Lens
RAEBEES

P SL
(Post) (Seat Stay) (Handlebar) (Bolt & Nuts) (Mudguard) (Tapping Screw) (Slide Lock)
FRONT & REAR REFLECTOR arxm
2 —
118321 ON RR-OZ'I 7-GEW  Front (sim) Gray (=) White (&8) JIS 500 8.5/9.5 0.035 I T ] gl
131.6
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size 36
FRES ne g #®%= BE ERAERRE HE/HE ER/HRE/ER) IMEETR H
5008700 RR-F1-BTW Front (sm) Black (2&) White (#%) C.P.S.C./BS/JIS 1000 10.4/11.9 0.032 3 L.I'
5008705 RR-F1-BTR Rear (#m) Black (2&) Red (2&) C.PS.C./BS/JIS 1000 10.4/11.9 0.032 N
5008710 RR-F1-SLW Front (#m) Black () White (gw) C.PS.C./BS/JIS 1000 7.8/9.4 0.025 &9
5008715 RR-F1-SLR Rear (#m) Black (=) Red (2&) C.PS.C./BS/JIS 1000 7.8/9.4 0.025 . Lil'
5008720N RRF1-BM2R W/LOGO Rear (#m) Black (&) Red (z&)  C.PS.C./BS/JIS 500  6.9/8.1 0.039 — o %
500872IN RRF1-GM2R W/LOGO Rear (#m) Gray (me) Red (12)  C.PS.C./BS/JIS 500  6.9/8.1 0.039 = [ ] 2%
5008722N  RR-F1-WM2R W/LOGO Rear (&) White (a&) Red (2&) C.PS.C./BS/JIS 500 6.9/8.1 0.039 UL % ®
5008728N  RR-F1-SM2R W/OLOGO Rear (#&) Silver (#t) Red (1) C.PS.C./BS/JIS 500 6.9/8.1 0.039 L @f{m
e . angle:41.5°
5008730 RRFI-BMRW/LOGO  Rear (#m) Black (&) Red (a&)  C.PS.C./BS/JIS 500  7.5/8.0 0.033 =
5008731 RR-F1-GMR W/LOGO Rear (#m) Gray (%=) Red (2#) C.PS.C./BS/JIS 500 7.5/8.0 0.033 @ r
5008732 RRF1-WMRW/LOGO  Rear (@) White (a&) Red (2%) C.PS.C./BS/JIS 500 7.5/8.0 0.033 N
5008733 RRF1-SMR W/OLOGO Rear (#m) Silver (&) Red (2%) C.PS.C./BS/JIS 500 7.5/8.0 0.033
* Mudguard:R330
« Standard installation angle:35°
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size % 82
FRRS Be B #%x HE ERERE HE/HE BE/HERE/IED SMERR =N
5008740 RR-F1-BTW EU Front (i) Black (22) White (#%) StVZO /UN IA 1000 10.6/12.2 0.037 = ‘
5008741 RR-F1-BTR EU Rear (#m) Black (22) Red (a&) StVZO(CategoryZ)/UNIA 1000 10.6/12.2 0.037
5008750 RR-F1-SLWEU Front (@) Black (#&) White (%) StvVZO/UN IA 1000 7.9/9.5 0.030 e
5008751 RR-F1-SLR EU Rear (#m) Black (2&) Red (a&) StVZO(CategoryZ)/UNIA 1000 7.9/9.5 0.030 =\ E
Product Code Model No. Position Housmg Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size 164 134
FRRS uE 5= HE ERERE i@/ ER/AGRE/ER)  MEER
5009201CM RR-'I 65-BTW Front (#m®) Black (2&) White (i) C.P.S.C./BS/UN IA/StVZ0/JIS/AS/GB 1000 13.0/14.5 0.054 <I>
5009202CM RR-165-BTR Rear (#m) Black (2#) Red (4#) C.PS.C./BS/UN IA/JIS/AS/GB 1000 13.0/14.5 0.054
046 146
5009211CM RR-165-SLW  Front (#m) Black (2#) White (:#%) C.P.S.C./BS/UN IA/StVZ0/JIS/AS/GB 1000  10.5/12.2 0.049 ' '
5009212CM RR-165-SLR  Rear (#@) Black (2#) Red (4#z) C.PS.C./BS/UN IA/JIS/AS/GB 1000 10.5/12.2 0.049




Product Code Model No.
Bne

5009221CM RR-165-BPW Front ( %) Black (#=) White (&%) C.P.S.C./BS/UN IA/StVZ0/JIS/AS/GB
5009222CM RR-165-BPR Rear (#@) Black (2&) Red

RS

5009231CM

5009250CN
5009251CN
5009252CN

5009260CN
5009261CN
5009262CN

5009240CM
5009241CM
5009247CM

RR-180

Product Code
RS

50085008
50085508

RR-290

Product Code

RS

5006040N
5006060N
1155215N

RR-395

Product Code Model No.

RS cidl)

Position
g

RR-165-BP2W Front (#1m)

RR-165-BS3R  Rear (#m)
RR-165-GS3R Rear (i)
RR-165-SS3R Rear (&)

RR-165-BS2R Rear (im)
RR-165-GS2R  Rear (i)
RR-165-SS2R  Rear (i)

RR-165BMR Rear ()
RR-165-GMR  Rear (i)
RR-165-SMR  Rear (i)

Model No. Position
= frE
RR-180-BTW  Front (&)

RR-180-BTR  Rear (#m)

Model No. Position
Be frE
RR-290-BTW  Front (&)

RR-290-BTR  Rear (#)
RR-290-BM3R Rear (i)

Position
= 8

Housing
#x

Lens
HE

Housing

3

Black (==) White (##) C.P.S.C./BS/UN IA/StVZO/JIS/AS/GB

Black (2&) Red (at)
Gray (xt) Red (a&)
Silver (&) Red (2%)

Black () Red (zt)
Gray (m&) Red (a&)
Silver (&) Red (z#)

Black (&) Red (at)
Gray (m&) Red (a&)
Silver (&) Red (z#)

Country Standard

ERERTE

(a&) C.PS.C./BS/UN IA/JIS/AS/GB

BS/UN 1A/JIS/GB
BS/UN 1A/JIS/GB
BS/UN 1A/JIS/GB

BS/UN 1A/JIS/GB
BS/UN 1A/JIS/GB
BS/UN 1A/JIS/GB

C.PS.C./BS/UN IA/JIS/AS/GB
C.P.S.C./BS/UN IA/JIS/AS/GB
C.PS.C./BS/UN IA/JIS/AS/GB

Housing Lens Country Standard
%= HE ERERE
Black (&) White (#%) IS

Black (2&) Red (z&) IS

Housing Lens Country Standard
#%= HE ERERFE

Black (®&)
Black (2)
Black (%)

Red

Lens

White (£%) C.P.S.C./BS/UN IVA/StVZO/Belgium/JIS
(a2) C.PS.C./BS/UN IVA/Belgium/JIS
Red (2#) C.PS.C./BS/UN IVA/Belgium/JIS

Country Standard
HE ERERTE

5004010 RR-395-BTW Front (&) Black (2) White (%) C.PS.C./BS/UN IVA/StVZO/Belgium/JIS

Qty/Ctn
HE/
1000
1000

1000

1000
1000
500

500
500
500

500
500
500

Qty/Ctn
B/
1000
1000

Wt/Ctn (N.W/G.W.) Ctn Size
ER/HRR/ER) SMEER

12.2/13.2
12.2/13.2

10.0/13.0

12.1/13.1
121/13.1
6.2/7.3

7.9/9.3
8.6/10.1
8.6/10.1

8.3/9.3
8.3/9.3
8.3/9.3

0.099
0.099

0.099

0.061
0.061
0.048

0.040
0.037
0.048

0.037
0.037
0.049

W/Ctn (N.W/G.W.) Ctn Size

ER/HGRE/ER)

13/16.3
13/16.3

SMETRR

0.048
0.048

Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
B/ ER/ERE/ER) SMEKR

500
500
500

Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
HE/F OER/F(RE/ER)

500

5004000 RR-395-BTR Rear (#m) Black (22) Red (a&) C.PS.C./BS/UN IVA/StVZO(Category Z)/Belgium/JIS 500

5004050 RR-395-BZR Rear (#@) Black (2&) Red (2&) C.PS.C./BS/UN IVA/StVZO(Category Z)/Belgium/JIS 500 18.0/20.0

RR-C1

Product Code Model No. Position Housing Lens Country Standard
RS B i E #5 ) ERERGE
1157001 RR-C1-BMR Rear (#m) Black (22) Red (2&) BS/JIS
1157000 RR-C1-GMR Rear (4#%) Gray (%&) Red (a8) BS/JIS

Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size

10.0/10.9
10.0/10.9
13.9/15.7

18.5/19.0
19.0/20.4

0.026
0.026
0.075

0.053

BiE/E ER/EHE/IER MEER

500
500

10.0/11.0
10.0/11.0

0.057
0.057

SMAGAR
0.052
0.052

1.6

4

41.6

40.2

&
S
o

(

046

)

(

5 G
" ®

[Handlebar] [ =]

046

3

[ Seat Stay ]

046

+ Mudguard:R330

1
N
S

B

[wEx]

32.4

o

32.5

Vaa ?

+ Standard installation angle:35°

55.4

s 63.0
F
__

- Mudguard:R300

=

« Standard installation angle:42.5°

100.3

T D=

100.3

gD

274

I —
== =
U = —

+ Mudguard:R350 5
+ Standard installation angle:20°~30°



WHEEL REFLECTOR (#=3tx]

RR-550N

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
RS ne B #= HE ERERE BB/ ER/HGE/ED  MEER
5018500C RR-550N-WUW Wheel (%) - White (#m) C.PS.C/BS/JIS/AS/GB 1000 16.3/18.1 0.045
5018501C RR-550N-WUA Wheel (7) - Amber (&) CPS.C.(Front)/BS/JIS/AS/GB 1000 16.3/18.1 0.045
SMN GC INCL.

RR-550 SW 4 === 1L @ 1y

9 - LLQ (»/:‘ o @b
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
RS as B %5 i) ERERE BRI ER/HRE/ER) SMEFR
5018430T RR-550-WUW SW Wheel (#7) - White (#®) C.PS.C./BS/JIS/AS/GB 500 11.0/12.0 0.046
5018431T RR-550-WUA SW Wheel (#7) - Amber (##&) C.PS.C./BS/JIS/AS/GB 500 11.0/12.0 0.046
5043470T RR550-WUWSMNGC ~ Wheel (3) - White (sm) C.PS.C./BS/JIS/AS/GB 200(KIT) 9.1/10.8 0.054
5043471T RR-550-WUA SMN GC Wheel (#7) - Amber (&) C.PS.C./BS/JIS/AS/GB 200K 11.0/12.0  0.049

|
!l

RR-530 SW Il « 2 ==
=,

Product Code Model No. Position Housing Lens

ey Be E #% @@

5018330C RR-530-WUW SW Il Wheel (#7) - White (=)

5018331C RR-530-WUASWII  Wheel (%) - Amber (s#xt)

5018340N RR-530-WUASWII  Wheel (%) - Amber (st)

RR-530

Product Code Model No.

Position
RS B g #x

Housing Lens
HE

5018200C RR-530-WUW Wheel (%) - White (izm)
5018201C RR-530-WUA Wheel (s7) - Amber (#s1)
5018210S RR-530-WUA Wheel (#7) - Amber (#z1)
5018220 RR-530-WUR Wheel (%) - Red (at)

RR-317

Product Code Model No.

Position
RS Lo g #x HHE

Housing Lens

5287601N RR-317-WUA Wheel (%) - Amber ()

RR-317 SW I

Product Code Model No. Position Housing Lens
ERRES L g #x HHE

)= .
@ y g (&

Country Standard
& AE R

C.PS.C./BS/JIS/AS/GB
C.PS.C./BS/JIS/AS/GB
TPL/UN IVA

iy

L e
Country Standard
ERERE

SMN GC INCL.

Qtylctn Wt/Ctn (N.W/G.W.) Ctn Size
B/ ER/ERE/ER) MEER

400
400

12.5/13.3  0.068
12.5/13.3  0.068
400 12.5/13.3 0.064

Qty/Ctn
HE/E

C.PS.C./BS/JIS/AS/GB 1000
C.PS.C.(Front)/BS/JIS/AS/GB 1000

TPL/UN IVA/IS/BS
C.P.S.C.(Rear)

Country Standard
ERERE

StVZO/UN IA

Country Standard
ERERE

5287660N RR-317-WUASW Il  Wheel (%) - Amber (#me) StVZO/UN IA
SMN GC INCL.
RR-318 SW 19 ¥
0Ll
Product Code Model No. Position Housing Lens Country Standard
FERES R frE #= HE ERERE

5288000
5288010

RR-318-WUA SW W/0O Wheel (i¥) -
RR-318-WUA SMN GC Wheel (#7) -

Amber (#m:&) StVZO/UN IA
Amber (#m&) StVZO/UN IA

1000
1000

Qty/Ctn
HE/E

1000

Qty/Ctn
iR/

400

Qty/Ctn
KB/

500

Wt/Ctn (N.W/G.W.) Ctn Size
Eit/H(RR/ER)

SMEHR

17.2/19.2 0.061
17.2/19.2 0.061
17.2/19.2  0.055
17.0/19.0 0.059

Wt/Ctn (N.W/G.W.) Ctn Size
Eil/H(8RER)

17.0/18.8 0.061

SMEHR

W/Ctn (N.W/G.W.) Ctn Size

BE/AREIER) SMEER
12.0/13.0 0.062

Wt/Ctn (N.W/G.W.) Ctn Size
B/ HRE/ER) SMEGR

85/99 0.034

100N 9.3/10.5 0.051

132.67 13.73

150

140 )

14.5

@

133.5 ) 13.5

< 30




RR-316N

Product Code Model No. Position !'Ioising Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Cin Size
=

ERRS # W %% fiti) ERERE BRI BR/HEER/ED)  MEER
5287701 RR-316N-WUA Wheel (#7) - Amber (##e) StVZO/UNIA 1000 14.4/15.8 0.037
ol )\‘

RR-340 © * /&
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
ERRS e g #x HE ERERE BRI BR/EER/ER)  MEER
5287800 RR-340-WUW  Wheel (#7) - White (&%) JIS 1000 9.0/11.1 0.031

. A . 57.8 10.0

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
FRES e frE %% HE ERERE HE/E ER/HRR/ED MEGR
5287900 RR-345-WUW  Wheel (#7) - White (&) JIS 1000 8.7/10.7 0.031 N \ o / D m
Product Code  Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
FRRS oS & #% HE ERE R KB/ ER/ARE/ED) MESR
5010510C RR-165-WUW  Plastic Wheel (225:#t) White (a=) White (&%) C.P.S.C./BS/JIS/GB 500 7.7/9.1 0.033
5080950 RR-165-WUA  Plastic Wheel (z2m#) White (sa#) Amber (#:2) AS 500 7.7/9.1 0.033

RR-570 P
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size 159.8 172
@RS s g #% HE ERERE BB/ E2/HRE/ED  MEGR
5013603N RR-570-WUA Wheel (#7) - Amber (##¢) BS/TPL/Belgium 500 17.3/19.3 0.081

PEDAL REFLECTOR (#zssx)

RR-1
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
= RS B frE #x HE ERERE BRI BR/HEERR/ER)  MEKR 50

4.6
51115015 RR--A  Pedal () White (s2) Amber () C.PSC./BS/TPP/Belgium/JIS/AS/GB/IS 8000 15.8/168 0041 o[ | ﬂé

52.5 44
5111650C RR-1-SL2A Pedal () Black (8) Amber () C.PS.C./BS/TPP/Belgium/JIS/AS/GB 4000 11.2/12.1  0.035 3 %}g
22
53.1 96
5111530C RR-1-BZA Pedal (%) Black (22) Amber (#2&) C.PS.C./BS/TPP/Belgium/JIS/GB 1000 9.0/11.0 0.019 l_ >
| (I B

RR-1-CA

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size &
RS e B %% fidi) ERERE BRI ER/EER/ER)  SMEGR H l N$
5111550 RR-1-CA  Pedal () White (&) Amber (##&) C.PS.C./BS/TPP/JIS 4000 7.8/8.9 0.028 =

R145.3
SR150
3.05

5.07

RR-2

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size F 583 “4‘65

FRRS k= Lk %5 HE ERERE Wi/ HER/ERE/ER SMEGR = @

5111620C RR-2-A Pedal (m#%) White (a) Amber (&) C.P.S.C./BS/TPP/JIS/AS/GB 6000 9.0/9.6 0.027 ol

5111630C RR-2-SLA Pedal (w#) Black (2) Amber (&) C.PS.C./BS/TPP/JIS/AS/GB 4000 8.8/9.6 0.031 Haa
g



WORLD MAJOR SAFETY STANDARDS ttrzzaxzemi]

U.S.A. Regulation (C.P.S.C.) £Ei#EHIREEEREITECPSC)

Front Reflector  #1&tA Rear Reflector #&3tH Wheel Reflector #53t4
Clear(1pc.) #MGH) Red(1pc.) 4&0H) Front(1pc.) Ai#t(ipe)

Pedal Reflector Amber HM#RE}H e

Rear(1pc.) ##(iee) Right (2pcs.) #if(ecs)  Left (2pcs.) Zin(zecs)

e e = ==

@ ) ) 0
= T oo ToD — ———

RR-165 RR-290 RR-F1 RR-165 RR-290 RR-F1 RR-550N RR-530 RR-550N RR-530 RR-2 RR-2

Belgium Homologation(code de la route) tt#i

Front Reflector FIR%A
Clear(1pc.) ZEM0A)

0 O

RR-290 RR-395

British Standard (BS6102/2) = #i1&(BS6102/2)

Front Reflector #iRthH
Clear(1pc.) EBOH)

Rear Reflector #&x 4
Red(1pc.) “&0kH)

RR-290 RR-395

Pedal Reflector Amber R, ##E
Right (2pcs.) #iheees)  Left (2pes.) Zifi(2pcs)

Wheel Reflector &5tk

Front(2pe.) Fis(ioc) Rear(2pc.) ##(ipc)

= |
RR-570 RR-1 RR-1

Rear Reflector #mtH
Red(1pc.) a&am)

Pedal Reflector Amber mzE:s HiHE
Right (2pcs.) #iheecs)  Left (2pes.) #in(apcs)

Wheel Reflector Clear #msk &%

Front(1pc.) #ist(ipc) Rear(1pc.) ##t(1pc)

U T = 6D = =
@ . RR-550N RR-530 RR-550N RR-530 RR-1 RR-1
RR-165 RR-200 RR-FI RR-165 RR-200 RR-F1 = =05 e — —
RR-550N RR-530 RR-550N RR-530 RR-2 RR-2
RR-570 RR-570

German Homologation (StVZ0) @& ##&(stvzo)

Front Reflector  #1R3 A Rear Reflector #RtH
Clear(1pc.) EBIGA) Red(1pc.) a&0k)

Wheel Reflector  Amber
Front(2pcs.) Ai#(2pcs)

Pedal Reflector Amber Rtk ##me
Right (2pcs.) #ineees)  Left (2pes.) Zifi(2pcs)

®EXF HHE
Rear(2pcs.) ##t(2pcs)

' @ I e
D & - RR-1 RR-1
RR-FTEU RR-290  RR-395 RR-F1EU  RR-395 RR-316N RR-317 RR-316N RR-317 — —
RR-2 RR-2
. N RR-318 SW RR-318 SW
French Homologation :E#i#%
Front Reflector  #i&stH Rear Reflector &5 Wheel Reflector Amber #Exk mme Pedal Reflector Amber MR tH HHe

Clear(1pc.) #BGH)

O O

Red(1pc.) a&am

Front(1pc.) #i#(ipc)

m=Enle=-mn]

Rear(1pc.) ##(1pc)

=D

Right (2pcs.) #ihecs)

/o= g ===

Left (2pcs.) #ihzees)

RR-530 RR-570 RR-530 RR-570 RR-1 RR-2 RR-1 RR-2
RR-165 RR-F1EU RR-165 RR-F1EU
UN R3 Class IA (Ex: Denmark, Austria, Spain) UN #1#% 1A (ffifn; 3%, BibFl, BHHF)
Front Reflector  #istH Rear Reflector #&tH Wheel Reflector Amber #iith #me
Clear(1pc.) #MGH) Red(1pc.) 4&GH) Front(1pc.) #i#(ipc) Rear(1pc.) ##(1pc)

RR-165 RR-F1EU

O O

RR-165 RR-F1EU

RR-318 SW RR-318 SW

RR-317 RR-317

RR-316N RR-316N

UN R3 Class IVA (Ex: Sweden, Finland, Denmark)

Front Reflector  Bi&3tH
Clear(1pc.) EBOH)

0o

RR-290 RR-395

Indian Standard(1S/IS06742-2:2015)

Front Reflector #ist i
Clear(1pc.) #BGH)

UN#ITE IVA (Bilf0; Imet, =, A%

Wheel Reflector Amber strxs #ame
Front(1pc.) #i#(ipc) Rear(1pc.) ##t(1pc)

o A =

RR-530 RR-530

Rear Reflector #&3tH
Red(1pc.) @&tk

RR-290 RR-395

EN B M4&(1S/1S06742-2:2015)

Wheel Reflector  Amber
Front(1pc.) #i#(iec)

=D

RR-530

Pedal Reflector Amber RN #F#HE
Right (2pcs.) #ibtees)  Left (2pes.) Zitiencs)

= - ==

RR-1 RR-1

Rear Reflector #R#tH
Red(1pc.) 4&0H)

RR-180

®EXF HHE
Rear{1pc.) ##iipe)

=

RR-530

RR-180

Japanese Standard (JIS D9452) / B.A.A. HZ#&(JIS D9452) /| BAA.

Front Reflector iR A Rear Reflector #m3tH Wheel Reflector  #m3tH
Clear(1pc.) &EM(H) Red(1pc.) 4014 Front(1pc.) #istiee)

Pedal Reflector Amber HM#EXA RH#HE

Rear(1pc.) ##t(ipc) Right (2pcs.) #ineees)  Left (2pcs.) Zifi(zecs)

O ) . ) e=-=nNu=-=nllle="+=sRu=-zm e e
== @ RR-550N RR-530 RR-550N RR-530 RS RS
RR-0217-GEW  RR-165 RR-F1 RR-165 RR-F1 T - I e
D RR-2 RR-2
RR-345  RR-340 RR-345  RR-340
Australian Standard (AS-2142) #x#|T#&(AS-2142)
Front Reflector #isstA Rear Reflector #%R3tH Wheel Reflector Amber #zsth mame Pedal Reflector Amber msRtA HEE
Clear(1pc.) EB(H) Red(1pc.) L&0H) Front(1pc.) #i#(ipc) Rear(1pc.) ##(ipc) Right (2pcs.) #ineees)  Left (2pes.) Zifizocs)
w=<E=] [w=¢E=w) — —
RR-550N RR-530 RR-550N RR-530 RR-1 RR-1
RR-165 RR-165 o e D ] —_—_—
RR-550N RR-530 RR-550N RR-530 RR-2 RR-2
Chinese Standard (GB31887-2015) 4 A\ R#FEEZR4T# (GB31887-2015)
Front Reflector #i&t/ Rear Reflector #%R3tH Wheel Reflector Amber #zstp #me Pedal Reflector Amber msRtA HEiE
Clear(1pc.) EB0R) Red(1pc.) Z&0H) Front(1pc.) #is(ipc) Rear(1pc.) ##(ipc) Right (2pcs.) #ineees)  Left (2pes.) Zifi2pcs)
=) [w=s=w) —_— ——
RR-550N RR-530 RR-550N RR-530 RR-1 RR-1
RR-165 RR-165 D e &= oD = =
RR-550N RR-530 RR-550N RR-530 RR-2 RR-2



IMPRINT DESCRIPTION mim

U.K. (%E) BS6102/2 Japan (B7) @)
UN (BX8) 1AED, MAEYD
£
el I ¥ E
TPL (Wheel Reflector) Australia (RXFI) £
France (xE) ' hustalian
TPP (Pedal Reflector) ey
A K China (FE) GB/T31887.2
Germany () i
Rear Reflector
Z ) ) 1A
Belgium  (tkFiE)
India (ENEE) JS|‘ I (Pedal Reflector)
BRACKET ==
Model No. BS-3 BS-5 HP-5 SP-5 SP-6 SP-7 SP-8 SP-9
912.7~13.4 #15.5~16.5 919.0~20.6 923.5~25.0 #26.5~28.2 928.8~30.5 931.0~32.5 ¢34.5~36.0
BOLT: BOLT: BOLT: BOLT: BOLT: BOLT: BOLT: BOLT:
M5 x 128 M5 x 128 M5 x L30 M5 x L30 M5 x L30 M5 x L30 M5 x L30 M5 x L30
=~ | e e Q
(g H)
021.2~22.6 025.4~27.2 928.5~30.2 930.8~32.5 933.0~34.5 (2)36 5~38.0
BOLT: BOLT: BOLT: BOLT: BOLT: BOLT:
M5 x L30 M5 x L30 M5 X L30 M5 x L30 M5 X L30 M5 x L30
Without Packing @ Q @
(Rmz k)
Product Code Model No. Position Rubber Pad Pipe Size(mm) Screw Size(mm) Country Standard Qty /Ctn Wt/Ctn(nw./cw) Ctn Size
ERRS a4 HfZ(mm) 1222 R~f(mm) ERERRE HE /B EE/EREIED SIMEERR
5009501 BS-3 Seatstay (X Wlth (Ht) 812.7-13.4 M5 x 28 C.PS.C./JIS 1000 9.2/10.2 0.019
5009511 BS-5 Seatstay (EJ:R) With () 815.5-16.5 M5 x 28 C.PS.C./JIS 1000 9.4/10.4 0.019
5009505 GS-3 Seatstay (EJ:R) With () 912.7-13.4 M5 x 28 C.PS.C./JIS 1000 9.2/10.2 0.019
5009515 GS-5 Seatstay (FLX With () 815.5-16.5 M5 x 28 C.PS.C./JIS 1000 9.4/10.4 0.019
5009521 HP-5 Handlebar (#F) With () 219.0-20.6 M5 x 30 C.PS.C./JIS 1000 10.8/11.8 0.032
Without () 821.2-22.6 M5 x 30
5009531 SP-5 Seatpost (E#) With () 823.5-25.0 M5 x 30 C.PS.C./JIS 1000 11.5/12.5 0.032
Without (ki) 925.4-27.2 M5 x 30
5009541 SP-6 Seatpost (E+F) With () ©926.5-28.2 M5 x 30 C.PS.C./JIS 1000 11.6/12.6 0.032
Without () $28.5-30.2 M5 x 30
5009551 SP-7 Seatpost (E+F) With () $28.8-30.5 M5 x 30 C.PS.C./JIS 1000 13.8/14.5 0.038
Without () 930.8-32.5 M5 x 30
5009561 SP-8 Seatpost (E#) With () 231.0-32.5 M5 x 30 C.PS.C./JIS 1000 13.4/14.4 0.040
Without (k) $33.0-34.5 M5 x 30
5009571 SP-9 Seatpost (E+) With () 934.5-36.0 M5 x 30 C.PS.C./JIS 1000 14.2/15.2 0.040

Without (R#1) 936.5-38.0 M5 x 30



HEAD LIGHT t##:

10

GVOLT100

* 100Lux rechargeable headlight meeting StVZ0O

* Micro USB recharge

+ 3-level battery indicator

+ Can be mounted above or below the handlebar byattaching
the cartridge battery to the head unit upside down.

* Mode memory function

- 3light modes [ High 1.5h / Middle 3h / Low (Eco) 15h |

* Charging time: Approx. 3.5h

- 100LuxFTE FSkAT, FFE SVZOEMARAE

* Micro USBZEEE,

- 3R EIBT

OETEBE AR, AR EEFEIB AT A

- 1BIRIZIhEE

- IR [ &5 1.5/\BF / Ao 3/ /{EE= (F588) 15/\E ]
* FEEE A i)  £93.5/) B

Size (4%3 ) : 45.3 x 127 x 54.1 mm

High mode
. va Ve
DX & | ® [ 2] 2| @ Juse] =
ouasvsreu carrioc § pavTime J1* 55 cR l oericUBE NG5ty l FiexTioht” M Recharce Jl NbicaToR
Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
Val-E ) =y 3ot R R MBI it RENE B2/ EE/HRE/ESR) SMEIRAR
5336820 HL-EL570GRC B Stvz0 Black Li-ion battery Handlebar 50 14.3/15.3 0.063

(3.6V-3400mAh)  ($22-35.0mm)

GE100

* E-bike only

* Input voltage DC5.5 - 14.5 V.

+ StVZO standards compliant, with approx. 100Lx brightness
and wide light distribution.

+ Can be mounted above or below the handlebar by attaching
the bracket holder to the head unit upside down.

« Two light modes [ High / Low (Eco) ] and it can be easily
switched.

- BFR#BETE
« 55 5VE14 5V GRE
- BASVZORE, BEEA100xHS BRI ASE BRI L D) %
A REEFEVBEARTH
- FAAT AR [ BME () 1, ATAE R #
Size ({4&%3 ) : 45.3 x 64.6 x 62.6 mm

High mode
- ™ A : Pz
:’e m « »’4 S XN Q * @)
eke Moausvsten ] DAYTIME " 155" )| “0PTICUBE By gipiyiry )l FlexTight”
Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
RS bl X Rz SAUERE At REME HE/IH ER/BRE/ER) SMERRR
5336830 HL-EB570G Stvz0 Black = Handlebar ($22-35.0mm) 50 12.3/14.7 0.053



GVOLT25C

+ IS0 light distribution with Approx. 2500 cd brightness

+ JIS/StVZO0 standards compliant (in accordance with BAA)

« Top cut light distribution to reduce glare to the
surroundings

+ Light distribution that illuminates a large area of road
surfaces

+ Equipped with a battery indicator to show battery life

+ Mode memory function to start where you left off

« X4 RZISOBCE, 292500 cd 5T fE

- BEBARISRAEESVZORR A (FFEBAANISE)

- _EUIECS DRI, WAt A B ARSI & &

- BB S AERERERMINE DR

- BoE &R TRIRE

- HWINITIZIRE, ERE MR AIROR T F RS = A
Size ({4%1 ) : 33.6 x 85.9 x 38.2 mm

;‘1 * s iz High mode
Sy SIDE o P
DAYTIME RvsigiLiTy i FlexTight” B \NpicaTOR

Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size

RS B vzl SAUERE it RN E iR/ B/ H(RE/ER) SMAGAR

5340152 HL-EL370G BULK  JIS/StVZO  Black AAA batteriesx3 Handlebar 100 TBA TBA
(Include) (¢22-35.0mm)

11



HL-HUB200

+ Hub Dynamo specific

+ Compatible with 6V/2.4W specifications

+ JIS standards compliant (in accordance with BAA )
« Attaches to center fork or below the front basket

+ Compact body without a reflector

+ Daytime Light

* J1 harness terminal

- EBEREH
- FAE6V/2.4W HIA&
- FFEJISERAE (FFEBAANETE)
- FEERX OIS, SERE .
- MBS fEEINE
=1=Y4]
* J1E SRR T
Size ({&F2 ) : 47 x 65 x 47 mm

SIDE
VISIBILITY

Product Code Model No. Meets Body Color Rated Voltage ~ Terminal & Cord Length  Qty/Ctn Wt/Ctn (N.W/G.W.)  Ctn Size
RS s MRZAE SRR MERE HFRSEKE B/ ER/ARER/ED)  SMEGKR
5340731 HL-HUB200 JIS Black 6V-2.4W J1 Terminal 100 4.86/5.76  0.034
5340734 HL-HUB200 D TWIN JIS Black 6V-2.4W J2 Terminal 50 5/6.35 0.029

HL-HUB200AS

+ Pedal-assist electric bicycle only

+ Compatible with 17.5V~30V ( rated value 25.9V )
specification and 6V specification

+ JIS standards compliant (in accordance with BAA )

+ Attaches to center fork or below the front basket

+ Compact body without a reflector

- R HBETEER
- FA17.5V~30VAUE( HE B 25.9V )F6VALE
- FFEJISHRAE (FFEBAAREE )
« WREFIXFMIE, SHEIRETA.
- REBR I AN
Size (1A% ) : 47 x 65 x 47 mm

SIDE
VISIBILITY

Product Code Model No. Meets Body Color Rated Voltage Terminal & Cord Length Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
RS Be SRAE SRS HEBE WFRSEKE HE/E  ER/EEER/ER)  MEGR
5340735 HL-HUB200 AS CORD500 JIS Black 6V 02T-JWPF-VSDLE-S/500mm 50 2.9/3.85 0.029

5340733 HL-HUB200 AS JIS Black 17.5~30V  02T-JWPF-VSDLE-S/130mm 100  4.86/5.76 0.034



HL-HUB200D

+ Hub Dynamo specific

+ Compatible with 6V/2.4W specifications

« JIS standards compliant (in accordance with BAA )

+ Attaches below the front basket

+ Achieves the highest grade of brightness in BAA light
distribution standards ( equivalent to BAA grade 5)

+ Able to independently adjustable light angles

+ Daytime Light

* J2 harness terminal

- EEEEHER
- FAA6V/2.4W HIA&
- FFEJISHRAE (FFEBAANLETE )
- BEFRETS
- IXFBAAES IR AP R E R E SR (1HY FBAA 54)
- AL TR AR A E
=1=]
* J2LLRIGF
Size ({£F8 ) : 47 x 65 x 47 mm

SIDE
VISIBILITY

Product Code Model No. Meets Body Color Rated Voltage ~ Terminal & Cord Length Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size
ERRS L= MRAE SRR BEHE HFREBEKE B/ fE ER/EGRE/ED SMEERR
5340780 BF-2 BRACKET - - - - 500 22.29/22.94 0.029
5340781 BF-2 L BRACKET : - - - 500 21.95/22.62 0.029

13



TAIL LIGHT t=y:

REFLEX RACK

+ Rear rack light with a built-in reflector

+ Meets reflector standards
('StVZ0 Z,BS, UN IVA, UN IA and CPSC ) and
light standards ( StVZO, RKF and Danish )

+ IPX4 all weather resistant

+ Tool free 2 x AA battery exchange

- WANERXFREZELT

c FERIERRE (StvZO Z.BS. UN IVA. UN IAFOCPSC )
FZEATARAE ( StVZO. RKFFIFZE )

* IPX4 Bk &L

< 2xAAT MR ( EiREBEE TR )

Size ({£%2 ) : 102.8 x 52.8 x 29.5 mm

102.8

3 [
<> D -
AN * Low
IPX4 VISIBILITY & INDICATOR
Product Code Model No. Reflector Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
FRRS B0 Rtk RS SR E ith REME BE/E ER/BGRE /IR SMERRR
5445710  TL-LD580G C.P.S.C./BS/UNIA/StVZ0O Z/UN IVA Black AA batteriesx2 (Include)  Rear rack 50 8.7/10.1 0.039

TL-SLR220

+ The solar panel recharges the built-in battery for repeated usage.

+ Ensures about three times the runtime when compared to
previous model ( TL-SLR200N ).

« About 4 hours of charge under direct sunlight allows about
22 hours of operation in Flashing mode.

+ JIS standard compliant wide angle reflector

+ Attaches to seat stay
Power source: Solar battery + NiMH rechargeable battery
(GP17AAAH)

* Rechargeable Battery is replaceable

- PEEAPHAETEFR TRE, FIE & FerE £
+ 188 F IR = f( TL-SLR200N ){RIE % 7 3fZHVIE 1T FE A il
* FEBRYCE ST T FErR 4/, AITE AR N B 1722/ i

- BEJSHRANT AR
cERTRERRLXY
R BHAERR M +HR S TR A GP17AAAH )
* FREE B M PT E
Size ({&F2 ) : 50.6 x 56.9 x 47.1 mm
471 50.6
Attached bracket *
BS-3N (912.7-16.0mm )
8 Bag%zg(:n? 16.0mm )
Ny 2 = ©12.7~16.0mm
—/ i I
AutoLite™ i RECHARGE
Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size
FERRS ne 3 R ShRERE it REME BB/ ER/HRRIER) SMEIERR
5441962C TL-SLR220 JIS(D 9452),GB  Dark Gray GP17AAAH  Seat stay (¢12.7-16.0mm) 100 5.2/6.2 0.040
5441963C TL-SLR220 BKDM JIS(D 9452),GB Black GP17AAAH  Direct mount 100 4.88/6.4 0.029

14



TL-SLR120

+ The solar panel recharges the built-in battery for repeated usage.

+ Ensures about three times the runtime when compared to
previous model ( TL-SLRT00N ).

+ About 4 hours of charge under direct sunlight allows about
22 hours of operation in Flashing mode.

- JIS standard compliant wide angle reflector

+ Mud guard ready ( fixed attachment )
Power source: Solar battery + NiMH rechargeable battery
(GP17AAAH)

* Rechargeable Battery is replaceable

- NEKPHBE TR IIEE AIEE R EH
BT I 7= R (TL-SLR100N)RIF % 7 315891z 1T/ R [E]
- FEFAS E ST T R 4/ B A FE A IR IE R T IE1T22/)
- FEISHRENT BRI
- ERTREEHRER (BERX)
MR K PHEER R S TR FE I ( GP1TAAAH )
* FEEE R AT I EE #k.

Size ({&%8 ) : 50.6 x 57 x 45.9 mm

50.6

QO _'(‘ )'»
=J B2
AutoLite™ | RECHARGE

Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
RS BES X RZAUAE SAMEE At RIELE BRI EB/ARE/IED) SMAGAR

5441790C  TL-SLR120 JIS(D 9452),GB  Dark Gray GP17AAAH  Mudguard 100 4.7/5.4 0.017




CAT EYE co,LTD.

Add: 2-8-25, Kuwazu, Higashi Sumiyoshi-ku,
OSAKA JAPAN.

Zip code : 546-0041

Tel : +81-6-6719-7781 Fax: +81-6-6719-6033
e-mail : sales@cateye.co.jp

TAIWAN

U-MOUTH ENTERPRISE CO., LTD
BEALEERAT

Add: No. 75, Zhongshan 8th Rd., Daya Dist, 42841 Taichung.

Taiwan. R. O.C./ B mAH R L/\BET55%

Zip code: 42841

Tel : +886-4-25662575 Fax : +886-4-25660820
e-mail : umouth@ms39.hinet.net

CHINA

TAICANG YOUSHI TRADING CO.,LTD.
KEMMAFRAEFRAR

Add : Building No.1, No.677 SHANGHAI EAST ROAD, TAICANG CITY,
JIANGSU PROVINCE, China./SIH&A €kt E LERE6TTS 118
Zip code : 215412

Tel : +86-512-5371-8119 Fax : +86-512-5371-8599
e-mail:sales@youshi.net.cn

2025.02 | PKG0506 [V1



